Measurement division modeling and algorithms.

1. Draw measurement division diagrams for each problem, and use the diagram to find the solution to the problem.  Write your answer in a complete sentence.
A.  Frieda has 4 pints of ice cream.  It takes 3/5 pint of ice cream to make a super-thick shake.  How many super-thick shakes can Frieda make?
B. Sam has 2 1/2 lbs of clay.   It takes 3/4 lbs of clay to make a bowl.  How many bowls can Sam make?
C. Tyler has 3/4 yard of string.  It uses 1/5 yard of string to wind once around a soup can.  How many times will Tyler’s string wind around a soup can?
D. Nate the Great has 1/2 cup of sugar.  He needs 2/3 cups of sugar to make a full batch of pancakes.  How many batches of pancakes can Nate the Great make?
3. Write the Measurement addition interpretation (sentence) for each of these, and then solve each by using the common denominator algorithm. (Sample Sentence structure: How many ___ are in ___?)
A. 
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4. A. Alice solved the problem:

Kelly has 8 yards of fabric,  If it takes 1 1/2 yards of fabric to make a  shirt, how many shirts can she make?
by dividing: 
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     She can make 5 shirts.
What does 1/3 tell about the answer?
B. John solved the same problem Alice solved (above) by drawing this diagram:
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 and writing 
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What does 1/2 tell about the answer?
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